' BLfTZ ‘
| COMPRESSOR)]

ONC21

TOYOTA ONC20
ONC25

BL/TZ









o o R R OOoOoOoOooaoOo

oy o s R

TOYOTA B

QNC21

3SZ-VE

2005 12

10180

BLITZ COMPRESSOR SYSTEM

TOYOTA B
QNC20

K3-VE

2005 12

10178

BLITZ COMPRESSOR SYSTEM

TOYOTA B

QNC25

K3-VE

2005 12

10179

BLITZ COMPRESSOR SYSTEM



=TT
T T

bzt

| gEEEEY

s

10178/10179

113

10180

25.2

10180

=900 10178/179

17

© 50

18

e

10178/179




10178/179

10180

10178/179

32

33

34

36

Q

37 CAUTION

38




10180
M6x 30 M8x 75 M10x 20
M6x 16 M8x 25 M8x 45
M10x 35 M10x 65 M8x 30
M8 M10 M8
10178/10179
M6x 30 M8x 20 M8x 45
M10x 20 M8x 75 M6x 16
M8x 45 M10x 35 M8x 30
M8 M8




ASSY

o
92 %
< g
<
#
— ....'.
2
<
+f
L ﬁ.ﬁ; i.
JV 3




ASSY




10



\ I\ / i ) !

11



(10180)

6. 1
M8x 45 1

(10178/10179)

6.
M8x 45 1

10178/179

7.

15, 1
M8x 45 1

M8 1

12



(10180)

7
10.
M8x 45 1
10180
10178710179
7.
10.
M8x 45 1
10178/179
10180
12. 1
9. 1
10x 35 1

13



(10180)
13, 1
9. 1
M10 1
M10x 65 1

T=30N
1 1
3. 1
2. 1

M6x 30 3

M6x 16 3
21, 22.

1078/10179

(10178710179 )

14



ASSY

1
(10180)
M8x 25 1
10178/10179
M8x 20 1
8. sc
10178/10180
8. sc 1
M10x 20 2

15



M10x 20

16

10179

2
8. 1
M10x 20 2
1 8.
11 1
M8x 75 1
M8 1
M8 1




T=23N

M6 6
T=10N

M8 2

T=25N

M8 1
T=25N

M8 1

T=37N

M10 2
T=37N

M10 1 10180
T=37N

\'%
16V

10178710179 Vv

(10178/10179)
14, 2
9. 2
M10x 35 2
T=37N

17



18

\Y
3SZ-VE | 830-930 | 340-540
N) K3-VE | 580-680 | 340-540
3SZ-VE 4-5 8-11
K3-VE 6-7 7-9.5
T=44N
M8
T=19N
M8
T=19N
4 1
17. 2
25,
2. 1
M6x 30 3
M6x 16 3
AC AC




M6 6

T=10N
25,

(10180)
20. 1
23, 1
24, 2

(10178/10179)
20. 1
22, 1
23. 1

19



18.
26.

22,

AC
(10178/10179)

20



AC

18. 15
AC
AC
26.
AC
20
()
3
T=21IN M8 T=7.5N M6
2
T=21IN
2
2
ASSY
T=7.5N M6
ASSY
ASSY

21



30. 27.
30.
30.
30. 6
30.
33.
B
A
27. —
_ 31
— 28.

30.

L

22



28

LED

28.

29,

OFF

28.

L]

1L
1.5

Low
. 123

=

23



31 32,

ECU 3L 32.
ECU 27.
27.
30.
32.
ON B
T H
n [=—— ,H_[_k_q np =1 pg[=——=n
olie]lsllollojloliol [Holollsj«lla]><]z]1 'II=D-fJ*JJﬂJ.‘.".'--E K l_'I!I affz ]
i ||1. |:||4. w13 | el s = |1||:- -] |1_.|. HIEELE L} l-:'|l||:| | |® k&) I O A E IR L
1|:.|.s:|:4.un-;| L0 b= E mjx||n zlxﬁhduuzl alwjiewr]| |= N BE | B i
i |18 e D 5k ule n'nmd b |34 |nafaa | wlmn| |n|= ' ot
| Nt b
| L
T 10 32. '
8. ECU
B
T - 32,
" u
?_ 12 27.
ON ! 8
™ s ]
L 7 [* 30.
A
31
1 2 3 4 5 6
7 8 9 10 11 12

24




31

25




10180

(10178/10179)

26



27



BLsTZ



